EARAROBREBRT —5 XN—ZXBISH—F

2023568268 (B) 3mEEf2H

W2 ~ST9—457] B2—E YS5Z—E BRI
[x&%] 17&:530,000 ™  23#&:186,000 3  337&:106,000 ™  43%&:69,000 . 53&:37,000 ™
B\ % B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
= . BAITE 1:40.2 1-1 A = 2 | BEFEE (KR
111(11370v2 "E 00 & ¥ ° (5_03) PILLI—EB
RIZAZADA=RAV A B:N=YVIVEIYR IR=IF 77— In
< e 8 | ElRE 1:40.6 5-3 39.1| - 2 | 476 |1EEEH (EERD)
21glg| LY EFUR E 54.0 2 1/2 ) |BRBA
RINNVTSY B9 vEeF BE =B
= 4. _ . — M (KR)
3/5|5 T7LT79) 7 54_6 (12411/2(; . -5 ! (4_99% NN ’
Ribs¥oO0—U— B:OREAEBYAA TRERIS
® . LLIATRER : = = J\THERTE (BRFE)
40N 4| 7 ERAVPHIL=F o4 A 1.(431).5 87  [39.4 3 (4—51(; AL
R:TvAIVTA 87 RIAVFa1—b J=YYT7—LI
=_3 6 | BERA 1:42.0 7-8 9.8 - 7 | 463 |BHZ OKR)
sl 6| JT—T2 e 54.0 3) 6 | LL—y¥T @
R:FA—T2AAA B:1—F—=— "R BR
NS B8 | AihE 1:42.0 6-3 40.4| - 6 | 463 |f{EEEE (EE)
1 : ENACZ:Po4b 540 FI) o | 6% mEFR
R:O—IRA YA B:IUN—EIIv bk BNk
= =— _ 4 4 | HER 1:42.2 3-2 fNn.0| - 4 490 | EFEE (OKR)
7 7| 754 hIZRY 56.0 a 1/4) (1) | REEEED
RiVZAF—ZZRI— #§:07 IR Bwicie
o y < ERRE 3 - - {EERBE (BEfE)
s 2| YIFHE—XUH R b I S e
RIAFAT=ILR By 7HAr—U— =YV Tr7—L
@ 11— —&@BIEf:I
13—7F—
20—F—
30—+— 1,2,7,5,8,3,6,4
40— — 1,7.3.8).(2,5).4.6
@ Ih\R=E
B B 1 1,630 | | D41 & 1-8 430M F5 & 1-8 1,330 3EE 1-5-8 840M
B B 1 250/ 1-5 390M =] 1-8 4,960 3&EE 1-8-5 12,2804
8 140 5-8 1204
5 1004

ABIC OV TRUTEREERRODDZE. THRIIZEL.




